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g TRIEE : SRR EKEERFIMIE)T=6cm %ﬁz 1.00m?
THRIEH WA | B | BB | BE B IE e
SRR T EKE m? 1.00 620 620
BB m? 1.00 60 60
EEEAFINLT m? 1.00 240 240
1: 37J<,Jﬁwaf< m> 0.03] 3500 105
i m? 1.00 250 250
EEEIH(EB]EE&?E%%) =% 1.00 5 5
m° B B &t: 1280 T
TRRaH
g . TRIER: SEBRRLEKEERFMIE)T=6cm By : 1.00m?
THRIEH WA | B | BB | BE MBI s
SR B KEE m? 1.00 620 620
BIOE M m? 1.00 60 60
FEEEAF LT m? 1.00 240 240
ST D m> 0.04| 1250 50
WRITE m? 1.00 150 150
S TRETERER) b2 1.00 10 10
m’° B & &t 1130 T
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g TRIEE : aFERLBEKEERFIMIE)T=8cm By : 1.00m?
THRIER WA | B | BB | BE MBI s
SERE R T BKE m? 1.00 680 630
BIOE M m? 1.00 70 70
EEEAFIMNLT m? 1.00 240 240
D m> 0.04| 1250 50
WRIE m? 1.00 150 150
S TRETERER) =% 1.00 10 10
m’° B B 3 1200 7T
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